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a) x1 = (3+v3%3 —4%0.1875)/2, x9=(3—+3%3—4%0.1875)/2.
b) z1 = (3+3%3—4%0.1875)/2, x5 =0.1875/x;.
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1 b2 3%3=29 — f(3%3)=8"T
2 4c 4+%0.1875 = 0.75 | — f(4 *0.1875) = 0.75
3 b2 — 4c 8 —0.75 = 7.25 — f(8—0.75) =7
4 Vb? — dc V7~ 2.645 — f(V7) =25
5 —b+ Vb2 — 4dc 3+2.5=5.25 — f(3+25)=5
6 (=b+Vb2 —4c)/2 | 5/2=2.5 —x1 = f(5/2) = 2.5
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Step [ OO ooo o000
5 —b— Vb2 — 4c 3—-25=0.25 | - f(3—2.5)="
6 (=b+ Vb2 —4c)/2 | ?7/2 =7 — xo = f(?) =?
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1) 0000 TOL: (b—a)/2<TOLOTOLOOOOO0O0OO0ODO
2) 000000 NO <N (0000000000)
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Step l: i=1, FA= f(a) 00000
Step 2: While ¢ < N do Step 3-6
Step 3: Set p=a+ (b—a)/2, FP = f(p).
Step 4: If FP == 0 or (b — a)/2 < TOL then break the while.
(WhileDODDOOODDO)
Step 5: Set i =i+ 1.
Step 6: If FA- FP > 0, then set a =p, FA = FP;
else set b = p.
Step 7: if « < N then Output(p);
else Output(“NOOOO0DOOO0DOOOOODOOOOOOY);
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Step | Value of p
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a 0.1;

b i3

N 20;

TOL = 1E-5;

format long; /0000000000000

i = 1;
FA = 1/(a*a)-2.0;

while (i <= N)

go00O00O0oO0OO00oOoO0DoOoDOom
end
if ( i<=N )

sprintf (’Solution is found: p = %10.6f’, p)
else

’Solution is not found after N interations.’
end

[D00O0Octave 00 DO0OO0DOOO0O] Editor 00000000000000O0OC:\Users\[0OOO]\Documents\bisection.mOOO0O00O
O00Octave 000000 00000000 Command Window 0000000000000 00D0DDO00000ODbisectionmO000000

> cd "C:\\Users\\[O O OO]\\Documents"
> bisection



